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Objective: Subtract 5- or more digit number from 6- or more digit numbers without
regrouping.

A. Find the difference.

1) 46 2) 573 3) 687
4) 1039 5) 3475
- 718 - 934

B. Solve the following.
1) What is 45 less than the sum of 8 and 15?
2) Ricky picked 29 guavas. He gave 12 to his friends. How many guavas

were left for him?

Did you get all the items correctly? If not, review first the processes you
missed before you proceed to this lesson.
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Study and Learn

Do you know how to subtract 5- or more digit numbers from 6- or more digit
number without regrouping? If you don't, here's how. Just follow the steps.

a) 793 486 Start from the ones place.
- 61154 Subtract 4 from 6 equals 2.
2
b) 793 486 dS_lfjfbtract 5_tegst from 8 tens. The
. 61154 ifference is 3 tens.
32
c) 793 486 Subtract 1 hundred from 4 hundreds
- 61154 equals 3 hundreds.
332
d) 793 486 Subtract 1 thousand from 3 thousands
- 61154 equals 2 thousands.
2 332
e) 793 486 Subtract 6 ten thousands from 9 ten
- 61154 thousands equals 3 ten thousands.
32332
Then, bring down 7 since our
subtrahend is only up to ten
f) 793 486 thousands place.
- 61154
132 332 This is your final answer.

Do you like to try some more exercises? Work in "Try These" items.
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Do the following exercises to further understand the lesson.

1) 253579 2) 149665

- 20 165 - 17 412
3) 284764 4) 137552 5) 357 416
- 153311 - 123431 - 216 213

How does it feel when you were doing the exercises? Be sure to
remember the following:

To subtract 5-digit numbers from 6-digit numbers, start from the
ones digits followed by the tens, hundreds, thousands up to the last
digit with the highest place value.




On Your Own

This time you are ready to test how far you have learned the lesson.

A. Subtract the following.

1) 287 196 2) 279 654 3) 754683
-163 164 - 59431 - 310521

B. Find the missing number.

1) 495 837 2) 787 251 3) 893526
- 72 -1 3 - 7.1
1 4 24 3 5121 621412

Check your answer with the key to correction.

If you get 5 or 6 correct answers, you have mastered the skills in
this module and you may proceed to the next.
If you get 3 or 4 correct answers, review the processes you missed.

If you get 2 correct answers or below, repeat the whole process.
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